VT 4 T 1/ 2

B EWRY 7 2) BT — A1
B Lty oUT[1]1[3]1[5106][8]1[9] I N[10][12][13]1[15][16][17] 20204£07H15H  (OKIEH)

A7 K 4 oUT IN G HC NET 7= 2 N Fay =vety
1 HEES 37 35 72 3.6 68.4
2 REM 43 41 84 14.4 69.6
3 HmAR KA 43 42 85 14.4 70.6
4 RESS 45 46 91 20.4 70.6
5 1& _FHAd 41 40 81 9.6 71.4
6 AR 48 48 96 24.0 72.0
7 EEFEALR 44 39 83 10.8 72.2
8 A BE 16 48 94 21.6 72.4
9 ERE— 39 39 78 4.8 173.2
10 RE#HI— 43 40 83 9.6 73.4
11 MAREZE 47 47 94 20.4 73.6
12 T Fn&] 42 39 81 7.2 173.8
13 gy BF 48 52 100 25.2 74.8
14 # BE 52 47 99 24.0 75.0
15 frHENE— 44 42 86 10.8 75.2
16 Bl =5 49 43 92 16.8 75.2
17 JEKREEAN 40 45 85 9.6 75.4
18 #A7H  #hth 42 43 85 9.6 75.4
19 )11k 50 16 96 20.4 75.6
20 PEFTE D 48 16 94 18.0 76.0
21 REHEAT 48 50 98 21.6 76.4
22 /L HERE 43 42 85 8.4 76.6
23 ‘& IE5L 49 47 96 19.2 76.8
24 KRFHE 43 44 87 9.6 77.4
25 RiE FH] 49 44 93 15.6 77.4
26 &L 47 51 98 20.4 77.6
27 AT 52 49 101 22.8 78.2
28 WNWH/AT 54 52 106 27.6 78.4
29 BH  [EHE 58 47 105 26.4 78.6
30 gak BB 51 51 102 22.8 79.2
31 W5 47 52 99 19.2 79.8
32 (FREE 52 53 105 25.2 79.8
33 fEE 48 43 91 10.8 80.2
34 BEEL 51 51 102 21.6 80.4
35 FRFJ\ER 52 49 101 20.4 80.6
36 /MR TR 52 55 107 26.4 80.6
37T A TR 57 48 105 24.0 81.0
38 [ i 59 49 108 26.4 81.6
39 /L E=T 52 55 107 25.2 8.8
40 HWN fH 58 54 112 30.0 82.0
41 34 A= 61 50 111 28.8 82.2
42 (L1 = 58 52 110 27.6 82.4
43 REAR 56 52 108 25.2 82.8
44 /NPEZEEA 56 59 115 30.0 85.0
45 FEAE - 57 64 121 36.0 85.0
46 KHHEIR 60 58 118 32.4 85.6
47 I Tt 59 59 118 31.2 86.8
48 [HHE 62 62 124 36.0 88.0
49 & H & 56 60 116 27.6 88.4
50 13 k& 66 62 128 36.0 92.0




VT 4 T 2/ 2

B HIEWSRY T 2) BETF—A1
F=2 Uk OUT[1][3][5][6]1[8]1[9] I N[10][12][13]1[15][16]1[17] 20204E07H15H  (KFER)
JEf7 K 4 oUT IN G | HC NET = 7 SEEVAES da;

51 Kb Ak 63 70 133 36.0 97.0




